This question extends the idea of the aspirin example, and “twists” it to promote transfer. 

In the case of this made-up drug, the charged form is the one present below the pKa; and the uncharged form, without the + charge, able to cross the membrane, is present above the pKa value.
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“Osgoodofen” is a weak acid with a pKa of 5.0.

It is absorbed into the blood through the cells lining the stomach and the small intestine. Absorption requires passage through the plasma membrane, the rate of which is determined by the polarity of the molecule: charged and highly polar molecules pass slowly, whereas neutral and/or hydrophobic ones pass rapidly. The pH of the stomach contents is about 1.5, and the pH of the contents of the small intestine is about 6.5. 
A. Is more Osgoodofen absorbed into the bloodstream from the stomach or from the small intestine? (circle your choice)
FROM THE STOMACH
FROM THE INTESTINE
B. Defend your answer.
___________________________________________________________________________

Answer With a pKa of 5, Osgoodofen is in its protonated form (the  -NH+ group is positively charged) at a pH below ~ 5. 
At higher pH, the -NH+ group becomes increasingly deprotonated (and thus not charged). Osgoodofen is better absorbed (passes through the membrane) in the more basic environment (pH 6.5) of the small intestine, when it is not charged.

One other misconception that this question gets at is the incorrect idea that –CH or 
-CH2 groups can ionize; they CANNOT, only the NH+ group has an ionizable (“removable”) proton. 
________________________________________________________________________ 
